50, will be treated as malpractice.
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and /or equations written eg, 42+
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, compulsorily draw diagonal cross lines on the remaining blank pages.
Any revealing of identification, appeal

Important Note : 1. On completing your answers,
2.
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/F}\t)h Semester B.E. Degree Exammatlon Dec.2017/Jan. 20128

Q// Database Management Systems /2,, L:’/
Time: 3 hrs. <\\\\>~] Max Marks 80
Note: Aﬁ%t 1/11 VE full questions, choosing one full question from eaé%module
zfx\
) </ Module-1
1 a. Explain the némféha\racterlstlcs of the database approach xg\t‘surg» the file processing
approach. \\)) (08 Marks)
b. Explain the three == s a architecture with neat dlagrarr( Wiy do we need mappings
among schema lev ow do different schema de }{ languages support this
architecture? (:S“\ v (08 Marks)
\ ; / 1} OR (\ E:\:\\):V
2 a. Discuss with examples, dlffereﬁ pes of attributes. \ﬂv‘% (07 Marks)
b. Draw an ER diagram for a B%g}( atabase sc % ith atleast five entity types. Also
specify primary key and structura ;mnts N \/ (09 Marks)
3V /- ©5)
3 a. Describe the characteristics of relations ‘with § 1 itible example for each. (08 Marks)
b. What are the basic operations that can chan, the states of relations in the database? Explain
how the basic operations deal with cons%i'a,m {olations. (08 Marks)
LA
¥ “oR C
4 a. Describe the steps of an algorithn{ \gR to — re{at;ﬁih}l mapplng (10 Marks)
b. In SQL which command is used forigble creatlon9ﬁp§5i§1 how constraints are specified in
SQL during table creation w1 Isyitable example. o> (06 Marks)
\ N, = /’/’
/ ’~»  Module-3
5

Consider the COMPAN ASE ‘: ,,, .
EMPLOYEE (Fname, M1 me, Ssn, Bdate, Address, Sex, akn‘g}uper-ssn Dno)
DEPARTMENT (Dn. Dnﬁ ber, Mgr_ssn, Mgr st _date)

DEPART_LOCATIO umber Dlocation) -/ f»_‘

PROJECT (Pname, , Bt u}n‘ber, Plocation, Dnum) & ,f?x\

WORKS ON (Essm , Hours) Ve

DEPENDEVT( ependent name, Sex, Bdate, Rela‘uonshlp) /‘S;;»

Specify the foll§\w querles in SQL on the database schema given above : <~ )

a. For every praj ject located in Stafford, list the project number the controi\}ﬁng) department
numbey’ e department manager’s last name, address and birth date. <o X Marks)

b. List the es of all employees who have a dependent with the same t/pame as
thek\ s% Ves. 12 Marks)

c. Fd;r“ ach project, list the project name and the total hours per week (by all employees) spent

ﬁtat project. 04 Ma’ﬂgs)m

d,-. R trieve the name of each employee who works on all the projects controlled by ‘Research’f“

de“par’tment : 06 Marks)
OR

1of2
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Stored Procedure. Explain the creating and calling of stored procedure wgﬁh able

exdmy Te. \f {0 Marks)

Exp“Iam thifnngle — tier and Client — server architecture, with neat dlagram kos Marks)

N >/,, Module-4 if\\/,f;
Explain thgmfm;mal design guidelines used as measures to determme th)a ﬁl@phty of relation
schema de (08 Marks)
Define Norm )mh,\Explam INF, 2NF and 3NF with suitable exz%éx/\}és for each. (08 Marks)
U\\
<<i\ OR @&

Define Minimal ctwér Write an algorithm for finding a nqnhl);xﬁl cover F for a set of
functional depende:nc:iig/v ind the minimal cover for the (gf‘{en\éét of FDsbe (08 Marks)
E:{B—A,D—A

Consider the universal ré{% R ={A,B,C,D,E,F, Q{Hyl J} and the set of functional
dependencies (08 Marks)

F={{A,B} — {C},{A)} —\*{IE§3} . {B} — {F}, {Fz}:j% {G,H}, {D} — {L J}}.

in property with respect to F.

Determme whether each decom gmpn has the los§1‘
= {R;, Ry, R3} ; (A, 6/ } : 132\— 'F,G,H} ; Ry={D,LJ}.
C )
Why Concurrency control is needed de i ~3W1th example? (12 Marks)
Discuss the desirable properties of transactlo , (04 Marks)
& g% Q‘?
BR g
When deadlock and starvation p a\/le?x;?s ocg j9 Expiam how these problems can be
resolved. =5 (09 Marks)
Explain how shadow paging help })ecover ﬁ'om%fz'i“ s&@tlon failure. (07 Marks)
& yf
»
/ —
(/ )
Q7 )
| N4 K‘g*j/
s (<
(//,j:)\ R
o f S
"{\\\i“/ /” /\\
(5:\\/ ;;:),J»
(\<\v§$/“’"7 * k ok k% (:2/’2“\
/;\ \w.:; ' . b '
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